
 

 

Základní škola Zachar, Kroměříž, příspěvková organizace 

 

Pracovní list - řešení 
 

Předmět: Anglický jazyk – 5. týden 

Ročník: sedmý (Radka Hanáková) 

Opakování vzdělávacího celku: present continuous (přítomný čas průběhový) 

 

Look at the picture and complete the text. Use the verbs in the brackets. (Podívej se na 

obrázek a doplň text. Použij slovesa v závorkách.) 

  

 

 

It is six o’clock and it is time for dinner in the Blacks family. Mum and her children 

___are sitting____ (sit) around the table. Dad _____is coming____ (come) to the table and 

____bringing_____ (bring) salad. Mum ____is sitting_____ (sit) at the table and 

____reading_____ (read) a newspaper. She ___isn’t looking_____ (look) at dad or 

children. She ____isn’t listening_____ (listen) to her children. The children ____are 

sitting_____ (sit) and they ____aren’t helping____ (help) their dad. They boy ____is 

hitting____ (hit) the girl and she ___is closing_____ (close) her eyes. The cat ____isn’t 

sleeping____ (sleep). It ____is standing____ (stand) at the table and _____looking____ 

(look) at the chicken. Nobody _____is smiling____ (smile).  

 

Vypracovala: Radka Hanáková 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 


